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H3® & 89 Hed € U »13 98 Hed © Ue 8et »i3 fegl feg Hage (293 faiws) It F,
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geGdH € & HWed & 3H 84 | 1
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IHIITJ 2
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It fag 20 Mt Sar gt © faH »E3s Taus © Agne 40 H:HT: gt 3 Afes 9 1 yf3fdg <t
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g8 m3 fer feu Ua3HA JIg3e=a36 W3 f[ITSHA JIg3e=d36 San'G |

Fogdt AAUs T douwdsa (AUHY) ysus ot I 72 feg fa€ agdt I 7 3t »must fieaft
o9 U3 T93<Ta1 5678 w3 HE TI3T fad fam § wusrGar w3 fa€ ¢
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J& fe3 e AIae 3 fega a9 :
()
-
50 80 20
()=
— AAAAA——AAAA,
(A) AAAAA-
6V
HHHH—()
A< JHt g2 J, 37 eHied »3 Sated € oft uss (Af3ar) I3 | vy 6397 <t a9 Afg3
YRS 99 |
Eu
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@9 U3 € 379 =" Jet Yf33ud giamT Ifenr J, mirffed &F AT 100 mA T | 79 379 <t
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9 |
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&' AH gfdar U839 € g7 9fdar 73T 293 I8, 37 feg od & AT 3 fa< mirg yier
I3 fag 2
(b) SfdlaT 713 $ Ffelar U833 feg fa= sefommaier J 7
(c) IFSHBFTEHmMI Mt degserd ?

11. 399 T vt feg J= fou Quage ot 293 996 T I8 ¥a9 U™ 99 Had faast ¥ foq
Wfee T3 6.00 UET | 3
(i) 1000 W = fars-dteg Ja 37 5 uie
(i) 400 W = JedifHded g9 97 10 Wi

12. I8H Y “H3T T372I5” & mfme § uFT8e JT wiftmux #t & ygaet s, usHied,
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gerfen 97 AaeT J | BT & feg ensT 13T fa »iHt »mie 7S § usHiea w3 UElEls 3
Ha3 g w13 fed g § fogt & we 3 we 233 € Bt YgaT fanffar | 3
(a) Jas el feg vehels w3 ygmfes €t 293 83t fa aadt g7t J 2
(b) fefonaehnt & »myE Ags feg fogt &t 293 3 o= far st d=ar 2
(c) MSSHS <l Hes3T ¥ Bel fefanradin s feq gn § fa< Ygar fodt J=aft 2

13.  Ja it aret yfafafan : 3
MnO, + 4HCI — MnCl, + 2H,0 + Cl,
(a) W Gfad T & aHISE fmeT (i) MraHlaes (i) Swaas Ifenm J |
(b) TEH T wUg 3 naHlads M3 BYWSTS € UfgsTar f&y |

14. &t e J A< feas’ &t Ie feu fan gomudt 33 feg gfizans & Afer aier J 2 fem
yf3fafgn T &H 88 w3 garudt 38 w3 38 3 Y3 B3 T g feg fea »i3g 189 |
fer yf3fafon feg ‘foas’ & gfHar v =965 949 | 3
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y3e Qug g Ige I
(a) TASST IS ATt d, SR YT I T o 89 |

(b)

(c)

for au &t &g gt off It It 7 w13 feng iHedt & 3¢ 2 {9338t g9 It
T ey ?
fer nfest feg yf3fde o 9o 2anTe © & fod 398 Ji37 fdds f93a 570 |

Cu

5 it B9 et fig 15 Tt Sam gdt © 638 Taus € wone 30 it ot Gua wfaz J |
g5 T8 yf3fee & Afedt, »rag vz Yfgst uzrad |

16. (a)

(b)

()
17. (a)
(b)

(c)
(d)

(b)

18. (a)

(b)

19. (a)

(b)
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I9T-433 et off I I3 7 43Tt e’ < 293 J9d gEdt U39 feg fan fig 3
99t u3q <t femr fa2 uzr it A<t I 2

< 9T AFBMT X »F Y’ fed THI © 3B JHMT el I | Hag IsE! X
fegdl fandl &t ade fev ges= dizT Ae, 37 off 438t Y’ fe9 det a5e Yfaz
J<dft 2 Ir95 ey |

“SBTHIT =" HeT 78 fau’ f8y |

Wire feg IiBad © riEwe! fedse & AH Je T8t yf3fafon &t mitage 18y |
HESh T Ut fag Arg &< & fafonr < fedt a9 184 |
gefanit 2 fe9 Ir97J =9qft ge39 T a7H 38 | fere € A &t gt 56 |
HeYT feg 7rg 8 <t fafon™ € =9es = av w3 fem &t fea gfiar 184 |

ou
JJ Ufent feg fHge =& Une Yfafan & yarg =7 aH 88 i3 B &t fanmfian 39 |
fer yfafon™ 2 et 9gdt a&T AHardt fed | w3 yfafon o garfefea milage f8y |
fer yfafan feg I T8 45 wesret 27 2965 39 |

Aaet € QU feg Ba' 35 grrfefed grer &t gt 96 fig € »igg 3 U3 w13 w3t
e ega T A AT J |
8IS Hars 3 gue ¥ BEt At < QU I8y |

AT -gIefanet (YH g7fe Gipm) T 2 fere age 2 g9 &Y | fer g fae sta offzr
T HIST T ?

Ao fea®e AH Had &t 3 fa yZ3 der g 7 feaq #i39 (labelled) 939 <
HJTEgT 578 fanmip™ 99 |
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(a) fefgdasrft I 2 fam e fev fefgasT fas gt I fan srs (i) feg Uer It
fefgasT Grdh et (839+1=3T) feg fag Aofex It T 7
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(a) AuAa3T () fev ufgeass
(b) UIHTE Iy fenH feg ufg=ass
(c) U3 W3 wu3fed Ba<
(d) foAs-focIHIZ-Ba<
(e) WIATEST S Yfgt
iy
(a) WISl T 33T It @ mmag off /t 2
(b) H3FE T et gt St S Y S pt g |
(c) B fan 2 fadhue & gt g6 fagt & Hagle © mireadt foun § 93t ot |

gdar -3

SECTION - B

fan Ags & yuamrsT feg fefonradt a9 yuar ardt »ififeg wifks © I gon = wiftis
3 IJ I& | G ferdt mfAfsa yfgdt v fadhue fa< a9 Aae 96 2  ore 189 |

Wire o9 yaes 2ane ¥ el Al gH feg f3a 5@ |

3T B IS fet mardt 9

e (0-1A), *BaHTed (0-3V), 20 Q =7 yf33ud, o+, TaT fauzd, 3V <t gedt i3
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HIa< Bt |
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d9 &t »rfesrag A8Y fed Jride T Y fdds = Ug Gtae © yudr J9< AH fed
fefeonradt & »mue fadtust § Wt gu feg fofimim | 99 GRS »mUS YGar € AH © uas!
(FHST) € B Li T 2 HS 40° 713 50° BT T, 3T 29T YIIS &9 Le W3 Lr & AT HS
FIETARTTS 2
ou

15 H:HfT: San € §38 a7 I o I 25 F:l: It 3 UE fan fog = yfsfiy gea
SgrTe | B {935 939 576 | A9 fig = Aeia 4 Hafl: 3, 37 yf3fde = Aela usT
Coll

A fafan € AH I996 ITEhaATes © fad™ © »iftils 396 © yuar <t Yufaa feemar
EIRZCEACECREUSH

fan 7g® & YU feg e € 3H& & 969 78 »13 HUT (Hee) 78 <9 I8E3HA
HeE! War3T € wifis € et 383 78 T 56T SuBEe 51 J | 78 § 383 967 < B 554
<yt feg yuaasT 3 feoaT g2 Wign 77 HawT J 2 yudl fe9 Arae <t Aeret wargr <
IS5 fae fF A T ?
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(i) 3G JoT-Y7 F1 & 97T, HFT-37 37K 7T, 7 Fie7 737 8 | 37961 @1 977 3§ 3 I
forg 8 1

(i) T go7 AR E |

(iii) 3TTT%H] GIT-37 3R 97T~ & G¥1 3971 & IR §9H-J4F 77T & IR T 7@ 6 |

(iv) T8 FFT-37 & i7 379 3 i 351, 9id 37 3 &1 91 3N 97T § 7 §) 37% & U Jo7 4
S7TARE TI7 [T =T 8 [

(v) -3 3 J97 G&IT 1 3K 2 TH-T 37 & J97 & | 379 It U IIeg 379l U 19T 7
e 1

(vi) HTT-37 3 97 G&IT3 G5 G1-G) 3% & J97 8 | 599 I TTHT30 5] 4 67 & /

(vii) TT-37 3 Y97 G&IT6 G 15 AT 375 3 J97 8 | 598 It TTHT50 5] 4 67 & /

(viii) STT-37 3 Y97 G&AT16 T 21 G-I 371 & F97 & | 5799 JTR ATHT 70 Vg 5 a7 8 |

(ix) HFT-& & 97 G&I722 & 27 1A HIFIcT T TERT @-al 371 & J97 & | 5799 I
GRrTHEE |

General Instructions :

(i)  The question paper comprises two Sections, A and B. You are to attempt both the
sections.

(ii)  All questions are compulsory.
(iii) All questions of Section A and Section B are to be attempted separately.

(iv) There is an internal choice in three questions of three marks each, two questions of
five marks each in Section A and in one question of two marks in Section B.

(v)  Question numbers 1 and 2 in Section A are one-mark questions. These are to be
answered in one word or in one sentence.

(vi) Question numbers 3 to 5 in Section A are two-marks questions. These are to be
answered in about 30 words each.

(vii) Question numbers 6 to 15 in Section A are three-marks questions. These are to be
answered in about 50 words each.

(viii) Question numbers 16 to 21 in Section A are five-marks questions. These are to be
answered in about 70 words each.

(ix) Question numbers 22 to 27 in Section B are based on practical skills. Each
question is a two-marks question. These are to be answered in brief-
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Section — A

HUSH A T HE o 1Y A S 7T o WYl fo7g 37N 370 Hoh0T g F, Hafd 3eaw o |
32 39 Hald F, | e Seqor foa 1
Mendel took tall pea plants and short pea plants and produced F, progeny through
cross-fertilisation. What did Mendel observe in the F, progeny ?

TN (J9 719) % FeFal o A [RaT | 1

Name two constituents of biogas.

Hiersh o fafim wit faftre % @ w9g & | oHa afeash < 38 9F 1 9 iee S
fr=ferfaa e #ar g :

(a) U I W BN I FAeT

(b) TEA (It 3AMI)

(c) Tertht uftrer st ST

(d) wTEfeRet AT 2

Different parts of brain are associated with specific functions. Name the part of
human brain which perform the following functions :

(a) Sensation of feeling full

(b) Vomiting

(c) Picking up a pencil

(d) Riding a bicycle

ST o TATSThdT ISl § IR SI BId & | Te fohd TR o AT ST Tehal & 3R
FT 7 T AfTRT T T IeTen ferfau | 2

Carbon has four electrons in its valence shell. Which type of compounds can be

formed by carbon atom and why ? Give any one example of such compounds.
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5. I3 fer 20 cm HIRE gl o ToRE STadet SO % WA 40 cm gl R ferd & | widfers
TR 3R srepf Td SHITT | 38 TohtoT 1 Wdfers 1 qRTiH o T fertor s @i | 2

An object is kept 40 cm in front of a concave mirror of focal length 20 cm. Find the
position and nature of the image. Draw a ray diagram to show the formation of image
in this case.

6. TEEIAA fh HEd & ? MU H ORI UTGH ST ATHIIhd TG Eideht gHTcHe TTecaTad
3TN HUITeH TTeedTad sy | 3

What is geotropism ? Draw a labelled diagram of a potted plant showing positive
geotropism and negative geotropism.

7. “NTehicieh GETYAT o1 HUINT T2 91 8 7 I8 FA1 NI 8 7 TH:=H0 I I 3941
T ¥ 319 ford STUATEN TR = ? 3

What is “Sustainable Management of Natural Resources” ? Why is it necessary ?

Which one out of reuse and recycle, would you practise in your daily life and why ?

8. 3wl @t foheg shad & 7 A oAVl |HIA: 3Tedl difedl o agd @ A8 B ¢
SR ST | 3

What are acquired traits ? Why are these traits generally not inherited over
generations ? Explain.

9. = feu 7w uftgy W fomm Fifsre -

()
+\Y/—
5Q 8Q 12 Q
+f'\_
—AMAMA—— AN
@ AN

6V
HHHH—O)
TS Frofl I 8, TS WX TR SiceHIet & T UTeeieh BRl ? 379 3T <h! SR Afed gfe
HITT | 3
e

e wferierehar 58 ad 8 7 HehT SI W ogcq— Hifore | ferelt Soft fergga ity 4,
frem &g o dR 61 H1g Tfatige Je1 7, THICK 1 ueish 100 mA & | Afe IR i oramg

I g AT R Fearm Sre, ot aitay § yerfad am form yeer itafda arft 7 st s gfe
HITT |
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Consider the following circuit :

()
(V)=
50 80 120
)=
—AAA——AAMAN
(A) AAAAA-

6V
HHHH—O)
What would be the readings of the ammeter and the voltmeter when key is closed ?
Give reason to justify your answers.

OR

What is electrical resistivity ? Derive its SI unit. In a series electrical circuit
comprising a resistor made up of a metallic wire, the ammeter reads 100 mA. If the
length of the wire is doubled, how will the current in the circuit change ? Justify your
answer.

foret Taem 3R b WEAell H 1g 39 IfEam FAEe ek 3TH 2 mL 915 TewR]eh
31 Temen e 2 | 9l St 19 o1 aieT gt I it fofewd o3 37R iRt o1 et
fotermg w1 gru foran T B, A 599 9 forw weRtor § foten w1 & W1 H gitEdd g 7 39
I % forw swror dfse | 3cafia g & foawa 3 o frsed ferent S @ehd1 @ 7 319 I
%1 gft o fore wemfres wrfiet € |
Al
(a) hh ST H STShTT ITSST ST SUANT TohaT ST & | Afe STT9eht ATaTsi 8% W heh S
T SRt RS & T W ATk HIST 3TN Hid! &, 1 I8 heh o TG i fhd ThR
TR ST 3 T ?
(b)  sfeh drer Bt Sfeh et # ford TR witafda fram sran @ 7
(c) heh ol GATIH 3TN T~ hid ST ?

1 g of solid sodium chloride is taken in a clean and dry test tube and 2 mL of conc.
sulphuric acid is added to it. If the gas evolved is tested first with dry and then with
wet blue litmus paper, in which case will the litmus paper change colour ? Give
reason for your answer. What inference can be drawn about the nature of the evolved
gas ? Support your answer with chemical equation for the reaction.

OR

(a) For the preparation of cakes, baking powder is used. If at home your mother
uses baking soda instead of baking powder, how will it affect the taste of the
cake and why ?

(b) How is baking soda be converted into baking powder ?
(c) What makes the cake soft and spongy ?

5
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st & od o fafeRaa it w1 ST wE &1 $o @9 aiefad Sife safes
frga M ol s I fT26.002 |

(i) 1000 W S fergd dtex wfdfed 5 =
(i) 400 W 1 forega Thieiex wfafea 10 =2

Calculate the total cost of running the following electrical devices in the month of
September, if the rate of 1 unit of electricity is ¥ 6.00.
(1)  Electric heater of 1000 W for 5 hours daily.

(i)  Electric refrigerator of 400 W for 10 hours daily.

HET T AR YATGROT o AT ohl UTd TR {ferent Walean 5 Semewt $eMi, wnfeesh,
HUTS 3TM(C o TAW % BT IHET W o (7 | BET 7 I8 I T efiep e |
AT T TicA 1l 6T 9 JHT O ST BT & T8 Skt = 3T o STdTeRl shi
Wed ST 91 bl & | 384 I8 =g T fop gn weft fireest 3mae femmera =i
“ TATIECh ST T~ o SHTET TUT Teh— G ol $7eh A H ¥ STANT % 78 TTd i
T |

(a) <fep Sfiam A utefiefia 3T wifeess 1 3= u i foran ST =iz 2

(b) BT A 3 frerer™ # 39eh IUAI & S=TE 6| bR foham grm 7

(c) 3T fre=a i Theral o fore BT 3 Teh-gEr i fore wehr e foram 2 2

While teaching the chapter “Our Environment” the teacher stressed upon the harmful
effects of burning of fossil fuels, plastic, paper etc. The students noticed the extensive
use of plastic and polythene in daily life, which can be avoided and the surroundings
can be kept clean. They decided to make their school “plastic and polythene” free and

motivated each other for its minimum use.
(a) Why should the use of polythene and plastic be reduced in daily life ?

(b) In what ways the students would have avoided the use of plastic and polythene
in their school ?

(c) How the students would have motivated each other for the success of their
decision ?
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13.

14.

15.
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& Teft arfrfoRan

MnO, + 4HCl — MnCl, +2H,0 + Cl,
(a) T 38 s o1 T8 forfaw fwept (i) 3=, (i) ST 83T 8 |
(b) b YT T IT=IA IR 3T <ht i farRg |

In the reaction :
MnO, + 4HCl —» MnCl2 +2H,0 + Cl2

(a) Name the compound (i) oxidised, (i1) reduced.
(b) Define oxidation and reduction on its basis.

FT BT & 3o FToher 1 Iufefa & fopet ameafa ot & grsgio sl Sel a1 2 7 39
Frfurfspan w1 AW fafg aun seafa 9a 3R stfufran g 9er @ ur 3cTe & wifas
ToTEHT H Teh 3R fARaT | 39 SR H frehat shi yifHeRt o1 Ieci@ I |

What happens when hydrogen is added to a vegetable oil in the presence of nickel ?
Name the reaction and write one difference between the physical property of the
vegetable oil and the product obtained in this reaction. Write the role of nickel in this
reaction.

& TorHl Al <l SSTCTT o1 WHT |ISS 1 3ol i Sarell § 4 m gl T e fopeft
¢ ST ST ¢ |
(a) TorE <ia o1 Tt fohar ST & 38 Yok T A fotfiam |
(b) 9 E I HIhE G AT B TG SR 4 WHERI ol saren § fepat gt o w@n
ST =T 7
(c) 39 gohtor 1 fafers ST g@iA o forw Amfena foptor s Eifem |
YAl

SCm?Z_tﬂﬁﬁﬁTH150mW@%WWW%W3Ocm@WW% |
T 9ot wiafers 31 fexrfa, arsst 3t wehfa sma Hifv |

We wish to obtain an equal sized inverted image of a candle flame on a screen kept at
distance of 4 m from the candle flame.

(a) Name the type of lens that should be used.

(b) What should be the focal length of the lens and at what distance from the candle
flame the lens be placed.

(c) Draw a labelled diagram to show the image formation in this case.
OR

A 5 cm tall object is placed at a distance of 30 cm from a convex mirror of focal
length 15 cm. Find the position, size and nature of the image formed.
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16.

17.

31/3

(a)

(b)

(c)
(a)

(b)

(©)

(a)
(b)
(c)
(d)

(2)

(b)
(2)
(b)
(©)
(d)

(a)

(b)

Trechi & T@Td T Bl § 7 & @IS b SHE ik grEehia & | feheft farg
T grehi &3 1 feam ford yehm sira < STt & 2

< AR FUSIRT X 3TN Y’ Th-GR o fehe Tt & | A Foeett X o faregd
o & qiErd feham ST, o oo Fueett Y’ & 18 gy Ifd Bt 2w Gl |
At <1 e g fam fofay |

What are magnetic field lines ? How is the direction of magnetic field at a point
in a magnetic field determined using field lines ?

Two circular coils ‘X’ and ‘Y’ are placed close to each other. If the current in
the coil ‘X’ is changed, will some current be induced in the coil Y’ ? Give
reason.

State ‘Fleming’s right hand rule”.

1% | o[R! h AT f@ued o gHe g At ST1fshar o1 gefiehtr forfian |
TSl < o H vaE ohi sk fafa |
FEGH H ITEAT TR ST T o1 A1 TARIT | 3696 & a1 ! g 1S |
Tl § Y8 gUTeh o1 ATH 3T $6eh! Teh et fotfam |

T

B UTed] § 9 JH 9Tl Tur skl Uik o TR o1 9 fafiay 3 39eht samen
HIT | 38 gfekan & fou steves = gmfl fafge qen gfsean <1 qaates
IR ENTT |

3 TishaT § B dTel! i FeAT3T oh1 ot <hifoTy |

Write the reaction that occurs when glucose breaks down anaerobically in
yeast.

Write the mechanism by which fishes breath in water.
Name the balloon likes structures present in lungs. List its two functions.
Name the respiratory pigment and write its role in human beings.

OR

Name the process and explain the type of nutrition found in green plants. List
the raw materials required for this process. Give chemical equation for the
mentioned process.

Write three events that occur during this process.
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18.

19.

20.

31/3

(a)

(b)

(2)

(b)

(a)

(b)

(a)
(b)

(a)

(b)

(2)

(b)

TICThT <6 &9 § 37 T TERIS O h Tt SR fSHeh SMER W a1gaii 3R
T3 o s 3T fepam AT 2 |

1R I ST & S o ql 3T [ha |

List in tabular form any three chemical properties on the basis of which metals

and non-metals are differentiated.

State two ways to prevent the rusting of iron.

S -G G117 ? 3Hh! RO fARGY | 38h1 HRa fohg TohR for ST & 7

TG o 99 I WA H®T TdId 8ial 8 ? AHIhd 3TRG s TERdT 8 SR
I |
What is presbyopia ? State its cause. How is it corrected ?

Why does the Sun appear reddish early in the morning ? Explain with the help
of a labelled diagram.

fafirar w1 & 7 Reeh e o fafvrar fre TR 3= Bt @ ¢ el ofisfie o
g Tafir=ra Soeh! Sahfadr § fore TR e aidt & 7

ST SHIfTT Foh TifTeh S ot aTet Sftall § Seh T Fdfd § UrgE shl T 99
forg TR ol Tt 2 7

What is variation ? How is variation created in a population ? How does the

creation of variation in a species promote survival ?

Explain how, offspring and parents of organisms reproducing sexually have the

same number of chromosomes.

C1



21.

31/3

319 I T Y HEd g Y tad areft 7 foreft armed § ad ¥ gd 9 W awi %

= feu 7T TereEt shi i St e i -
(a) GISThdr T feror (ufead)
(b) - P o ufteda
(c) wfcereh & 3Terfceres oTeror
(d) ToreIa FUTTcHhdT-&To
(e) FATerTSS h el
e
(a) UGS o Al o SI1ehT0T Shi SATYT &7 T 7
(b) TUSTHI i 3TTard Gt i g ITHfeuR ht T ST |
(c)

Explain giving justification the trends in the following properties of elements, on

moving from left to right in a period, in the Modern periodic Table.

(a)
(b)
(©)
(d)
(e)

(a)
(b)
(©)

3 Torgl g1 Yeauni <hl g sTsy i Hugefiss o e e =1 I |

Variation of valency.

Change of atomic radius.

Metallic to non-metallic character.

Electronegative character.

Nature of oxides.

What was the basis of Mandel&ev’s classification of elements ?
List two achievements of Mandel€ev’s periodic tables.

List any two observations which posed a challenge to Mandel€ev’s periodic

law.

OR
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22.

23.

24.

25.

31/3

-«

Section — B

Toreht foremmera <t SRITTRITCAT § BT 3 TN gRT TSHISh 3T o UIHHT ol ST L 1§
E 1 3 5okt 3Tl Bt w1 wieaT foRE WehR Rt wehdl & ¢ @ wteqr fetfae |

In a school laboratory the students are studying the properties of ethanoic acid
through certain experiments. How can they test its acidic nature ? Give two tests.

ffee H ST g o forg 3ferd 6w o st @i |

Draw diagrams showing reproduction in yeast in proper sequence.

Ik UTE < <) TR A R -

I (0-1A), FeeHIE (0-3V), 20 Q T Tfcig, Fril, grT ==, 3V 6 delt qen
7 T AR | 39 ATl ST 3T ek fohet wfatias & anfed faga g (1) w3\
gfeiers o T & & fawer (V) i Ffar &1 sterm o & e amifed giwy
IE Gl |

You have following material :

An ammeter (0-1A), a voltmeter (0-3V), a resistor of 20 €, a key, a rheostat, a battery
of 3 V and seven connecting wires.

Using this material draw a labelled circuit diagram to study the dependence of
potential difference (V) across a resistor on the current (I) passing through it.

Wi h! FFATHR Feel! & TR areft Tehrer fohtor b1 7 STRREd ot & J=m o fopeft
BT A 379 Y&IuTi <hl dTfetentaig feham | Jf¢ 978 3794 T § € qTa=rient o foefu i < g1 o
40° 3R 50° 1T 7, 1 T TR H Le 3R 1 o Tal 7 91 & =11 ?

YAl

15 cm ®i%hE gl < 3T oF gRI oF | 25 cm gl X Terd Tepelt forrat b1 wicfereay siemm
T % foTu ArmTfeRd feptor s difaw | afe forar =61 98w 4 cm B, @ gfdfers &1 @S
fretfea Hifem |

While tracing the path of a ray of light passing through a reactangular glass slab a
student tabulated his observations. If in his experiment for two readings he takes two

values of /i as 40 ° and 50°, what should be the correct values of Ze and Zr in each
case ?

OR

Draw a labelled ray diagram for the formation of image by a convex lens of focal
length 15 cm when the object is placed at a distance of 25 cm from the lens.
Determine the size of the image formed, if size of the object is 4 cm.
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26.

27.

31/3

I 6T I T HTeH STEITFITES o Icaat 1 I L o TN hi TR ST
ST ATIfha 3TRE Wi |
Draw a labelled diagram of the experimental set up for the study of liberation of

carbon dioxide gas during respiration.

foreft feremerar <t SrwTRITeTT & “ETEF 6 I 1 HAR AT g A § oIICHh IS &Hal
T LI T o 1T AR A T AT ITAH &l & | TeT ol hdR sM o T it h
STt H SRS | <hi9 &1 e AT ST Tehdl & 7 JAT H HIeH I TwTE &19al shi goi
H H A R 7

In the laboratory of a school, the sample of hard water is not available “to study the
comparative cleaning capacity of a sample of soap in soft and hard water”. Which salt

from the laboratory can be added to tap water to make it hard ? In the experiment

how is cleaning capacity of soap compared ?
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